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* Read the following passage carefully and answer the guestions given below:

To eat and not be eaten -that’s the imperative of a caterpillar’s existence, The leaf roller reduces its risks
of being picked off by predators by silking together a temporary shelter in which to feed and rest. Adopt-
ing a different line of defense, the jelly slug extrudes a sticky translucent coating that may foul the taste-
buds of marauding ants. For its part, the aquatic-larva fashions a portable hideout from fragments of
aguatic leaves, Cutting a serpentine trail as it feeds on tender young leaves, the minute citrus leaf miner
spends its entire larval life inside its host plant, thus keeping its appetizing body safe.
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. Which species of caterpillars ‘build” shelters to protect themselves?

{A) Leaf roller and jelly slug (B} Leaf roller and aquatic larva

(C) Jelly slug and aquatic larva (D) Jelly slug and citrus leaf miner
Yzafanl &9 uaR Wia siuad sl siud 67

(A) dlg Detz 21 dl a0 (B) dl& A 2 wz-aal

(C) ell zeat mn oR-cual (D) el 2e13L 214 Wbz dlg ubHnz

3. Which one of the following species of caterpillar makes itself unpalatable to its predators?
1) Leaf roller  2) Jelly shng ) Leaf mmner
Answer Choices:
{A) Only 1 and 2 (B) Only 2
{C) Omly 1 and 3 () All three
gl Suoel 55 s ol el et [Bsidl W B sud 97

Nells daz  2)Fellada  3)ells HdAR

sranst [dseul:
(A) 55 1 27 2 (B) &5 2
(C) §5¢ 1 244 3 ECE

3, __ caterpillar makes a serpentine trail while feeding.
(A) Leaf roller (B) Jelly shug
{C) Leaf miner (D) Leaf slug

S vl avia #ulsz @zl sud 9.

(A) dlls e (B) el 269
(C) ells w2 (D) ellg 22
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. Read the following passage carefully and answer the questions given below:

In many cases unnecessary timidity makes the trouble worse than it needs to be. Public opinion is always
more tyrannical towards those who obviously fear it than towards those who feel indifferent to it. A dog
will bark more loudly and bite more easily when people are afraid of it than when they treat him with
contempt and the human herd has something of this same characteristic. If you show that you are afraid
of them, you give promise of good hunting, whereas if you show indifference, they begin to doubt their
own power and therefore, tend to let you alone.

v [t a5l sinsoyds aial w1 sidlen wai-u i sudl:

st Baauaila (B39l sl sug] yehellvlln % dlell 0o drll Sl G4 W o-Ud 8, dlsi-u 2Bl
% L5l (AR Auzan & dnt s2cl (AGEouElEl) Seuzel ud dhai ay gl S d. did st
gritet [A324el 5% 6 ool 53t 2R AL AR 53 6 413 42l o 2] eudl i ay w5249 win
Hirtd HHER WA 2 cnaBisdl B % 5055 6. o ol otcltdl 51 3 o Al $30 68, ol oA Al sieuq
(81812 ttvictief ~1541 530 30k 661, v & 9L ol Gearllviclt stctial oL, ol i Dl 9B 3 s s3qud 03
53 8 el ool WEREIM 293U, 3 Blsel L) Bl deel sy-ud 8.

4. Tfwe are afraid of public opinion, the attitude of the people towards us is
1) Sympathetic  2) Indifferent. ~ 3) Admiring  4) Ruthless

Answer Cholces:

(A) only 1 and 3 (B) only 2 and 4

(C) only 1, 2 and 3 (D) only 4

%L BN LS AP S S dl, disid sveu udld agm B,
Daegeifafla  2)Gerld 3 udusar 4 Rl

apeuty [ aeyl:

(A) &5 1 2L 3 (B) $5c1 2 244 4

(C) &5 1, 2911 3 (D)84d 4

5. Inthe passage, barking dog’s example is given in the context of
(A) Barking dogs seldom bite,
(B) We should not be afraid of dogs.
(C) 1f we are afraid of our critiques, they will try to scare us more,
(D) We should appreciate the faithfulness of a dog to his master.
FHUML, SRl gt GeleRet e dleolil sivant suei .
(A) PRl S 133 o 533
(B) 2048 gtuviiell s b=t 1l
(€)o7 2uudt viven suedflell saa il dl, dvil suuma ay suaaid uad 529,
(D) 20U setaedl det s uell Al agiedl- usiau sadl SisH
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. Read the following passage carefully and answer the questions given below:

Respect is always a two — way sirest. No matter how powerful you are, no matter what your
experience, skills, and accomplishments, you will not be respected by others if you consistently
treat them, disrespectfully. Friendliness that is, treating others politely and showing respect to
them — is a way of showing your respect for other people, and in return, they respect you. If as
a manager you are respected, your orders will be accepied as a sincere attempt fo resolve
problems rather than a mean — spirited attempt to cause problems.

As important as friendliness is, but don't assume that friendliness will replace or correct poor
management. 1 have seen effective managers who didn't use this friendliness element but could
have been mroe effective if they did use it. I have seen very friendly managers who were
ineffective because they were not doing effective management things. In other words, managers
who intervene effectively in a friendly way are always more effective than managers who
intervene effectively in a non — friendly way. Maintaining a friendly relationship is another part
of maintaining work performance. It also helps you avoid having people try to hurt you because
they dom't like you. It might save your life.

. [ g5l sinzoyds sl wd 8 suden sl FUs R

sigs dial 3 Bl wdl §. 31 ozl el B ddl e sl 6, bl el il A,
S0l 27 Rz o a din, Wil w2t ALl Udd IR sagil, dl etdL dMeL gl A
Al uidl, delyel @R B8 5, v a0l Al adl 217 Al »ieR sl - B ey dlsl
udl oz it pulaard 2y el & e weanl, A3l M el 2l B, oA WA adld au
st spamtl B dl, AL B wirll Gell szeadl se-sindant yulEe Gled MMl

Ghe dedl s wu dds aelsizauml »udl.

allyel deir sledl ¥ wecaydd 9, uig wedl dail 4l % Syl e s AR oeail
sl gl d swrsis L B 8 Sl . Aollyel masr dedl Gedla el 540 Wig
ol Al Al Guilal sl dl ay MuRsRs U4 A dhet, vt Solyel Aol R &
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oqrat 5. it (Bl 2isid) dmA Slan dlsil sl Mee 52 8, % difl duA e sl el el
A g vl waa sl Wl B, Bl o wadn ocudl 9k ©,
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6. Author will agree with following statement(s):

1) Respect depends on the experience of the leadership.

2) Respect depends on the skills of the leadership.

3) Respect depends on the academic achievements of the leader,
4) Respect comes from treating others with respect.

Answer Choices:

{A)only 1 and 3 {B) only 2 and 4
{Cyonly 1,2 and 3 (D) only 4
gy wl|etl [Helevt /vl el AHe =l

1) 283 3 el U™ 42 2R 8,

2) weR 2 rigeardl gumean uz situfEd 6.

3) #ie2 Aci=l HafEs Blasil uz vuuBEd 6.

4) 152 2y b5l A 282 WA adaell =ud .

il [dseul:
(A) G5 1 21 3 (B) &5cl 2 214 4
(C) &5 1, 2% 3 (D) 55 4

(7. Author will disagree with following statement(s):
1) Friendliness makes the management effective.
2) Friendliness can fix weak management.
Answer Choices:

(A) Only 1

(B) Only 2

(C) Both | and 2

(D) Neither | nor 2

Qs 2l FA A AL 2018 i 2l

1) Helyel oyeters daeq- sueses ol 8.
2) Aol el ez Amon ey yadl ak 6.
it (sl

(A) &5 |

(B) &5 2

(C) 6inl 1 244 2

(D) 1 248a 2 gl sidy ]
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. Read the passage carefully and answer the questions given below:

Today, in the digital age, the one who owns information owns the future. In this digital world, we face a
fundamental choice between open and closed. In an open world information is shared by all freely avail-
able to everyone. In a closed world information is exclusively owned by a few peaple. Today, we live in
a closed world with growing concentrations of power and wealth in the hands of a few people. A world
where innovation is held back by the monopoly; where essential medicines are affordable only to the
rich, where freedom is threatened by manipulation; and each mouse-click you make, every step you take,
they will be watching you. By contrast, in an open world all of us would have the freedom to build on
everything from statistics and research to newspaper stories, books, software, films, music and medical
formulae. In an open world, we would pay innovators more and more fairly, using market-driven remu-
neration rights in place of intellectual property monopoly rights. Today, digital technologies have taken
on ever more of the tasks that humans used to do, from manufacturing cars to scheduling appointments.
And in the next few decades, artificial intelligence may be not enly driving our cars for us but dratting
legal contracts and performing surgery. On the face of it, we have much to gain from it. Machines can
spare us tedious or routine tasks and perform them with greater accuracy. The danger, though, is that
robots run on information-software, data algorithms. At present the ownership of this sort of information

is unegual,
o [ 553 stneoyds aial wid A1 wuda sy TR

wud, [Braa yorui, % sl il@sl i @, 4 ol Guz wlRdl wud 8. wu Bfvea R, a4l
weet oA il (Ra) 8 e el asedl sdlo iz Sis vieel Bl MRl axiH gL e
us el Guac saeui »ud &, w15 oid Rl Hlkdl G4 f5d Leals disi-l AL S . 2k »umd =
ity Rl 2ol 1L opl a3t i AU Alats LSl sl dla A3 adl 28 B, As Adl gl
efletelisl SsfsR glal Mt A WiE 9wl @Ay Bl §5d waflElA Wi 8, wdl Fun
sl A dlf coAdl WAl 8 2 duidl e Wl -Tesul, Ul Ls WL, dail e Al saieiel
oA 260 . Al BuBd, s1s yedl gRusi, 2uuas oyt wis 4L w4 el AR wevteuReL suall,
yadsl, dllg2dz, wdlbiel, @it w1t ool Bugidl 2l e2s oo Fafe saardl wadadl il weel
g, 2 diles Al goasl wEsRA w213t ot i S sUEsEAL Gl 58
cltscpiia Ay ay GBI el 3sadl 504, . [LPrea ds-1551 szt Frfaell 4 yeusidl
allsacdl aellet wegl Fza sl s2al el vl 4y ol el B, v vl bzas ssplng, 5B
oyfuril §5ct wuEtL 2 BuEl S aenadl 44l wat sl suRedl e e A sl A aelEuL
gadl, M s, muusl 2 et well et 8. wall-dl el Sz s maal Al seildl saudl uk
2 2 AnA and sl 59 b 8. diodl, 516 3, dellza wilRdl-igzaz, 1 SeallFaa Uz
awd 4. wreul 2 usiaell ufadl-Adl sl e &,
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B What is/are the characteristic(s) of a closed world?
1) Concentration of power and wealth increases.
2) Innovation is controlled.
3) Freedom is manipulated.
4) Creativity is recognized.
Answer Choices:
{(A)only | and 3
(B} only 2 and 4
(C)only 1,2 and 3
(D) only 4
a5 ot Al aBisd(sl) s§ 5587
1) rl e iyl dbemmabi g,
2) AaizA FEBd e 2ue 0.
3) 2 HAcML HEHE Y @,
4) weeilesel dlsla 24 8.
et [sel:
(A) 356 | i 3
(B) 85 2 1 4
(C)551 1,204 3
(D) 85 4
9, What is the central massage(s) of this passage?
(A} Digital technology is dangerous.
(B) Artificial intelligence can perform tasks in a better manner than humans.
(C) Monopoly of digital technology is the antithesis to development of the society.
() All of the above
it & 53 L Weadl e fuEsusil g &7
(A) [iBr2a sl el &.
(B) 45t oyt el s2dt ay 0idl Aa sl s3] a3 &,
(C) [iBree 2sldiap-l 2isifisE 31 e s @ 6,
(D) Buzlecd iy
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10.

11.

Read the following passage carefully and answer the questions given below:

Michael Angelo is famous for having successfully interpreted the human body, It is assumed that the
time he lived was ripe for exchange of knowledge and development in science. In pamting and sculpture
artists focussed on minute details, Michael Angelo’s paintings are no exception to it. In a study published
in the journal of the Royal Society of Medicine, a group of surgeons are of the opinion that the great
master was “afflicted by an illness involving his joints’. They have studied the paintings and sculptures
made by Michael Angelo as evidence to argue their view. They believe his hands suffered from not just
arthritis, but from the stress of hammering and chiselling. They also could not find any letters written by
Michael Angelo, further proving their assumption about his hands.

[ 531 sinyels aiail 1 D18 valan usil-u gauo vl

w156 Bl Mt e Asadnds vz s3at W s B A e A B 3 d SETPE
apail wdl il Rt siet 2 Rsiaieu RFm 2 iy o4 sdl, PR e [enseiml saunl
o1yl oL U2 vt Budd 539, Wi sel sl TRl Al uas el e Al wile ARRAAL
el s Let 201 18 ouel, aeiBEBRsAL 3L -l ABouL S 3 s HeirL st [t it
cuotell Bl Nl sr” . Al it mfous 218 edla s i Yri Al ussa Doyl glaL olrEl
5Bl i el weur 549l 6, Al & % e s g5 ] Wl N Ll szl 2
lellett Ssieit el Yatdl st GuRid, Aia Hudse s-el sl duyiital 15 vzl wa Hofl aseu
el Aetiel] fieat i (L el el Bl 1l

As per the passage, the modern researchers have studied the ailments of Michael Angelo using

1) Carbon dating of his bones, 2} Analysing his handwriting.

Answer Choices:

(A) Only 1 (B) Only 2

{C)Both | and 2 (D) Meither | nor 2

g5l o, wu[s el AL Gl 541w s Syl ollsudleiiel o 54l &,
19t maasi-u sl uE, 2) Al acigid [Eadue,

apatt, [ seul:

(A) &5 1 (B) 55cl 2

(C)5iA 1 24 2 (D) 1 luan 2 WA AAdy -l

Which of the following fact(s) is‘are not given in the above passage?
1. Vatican City's Sistine Chapel has paintings created by Michael Angelo.
2. Roval Society of Medicine is located in Rome.

Answer Choices:
{A) Only 1 (B) Only 2
{C) Both 1 and 2 (D) Meither 1 nor 2

LBl st eyl Gad g5ual suam 20l !
1. AR Gl Bizaide Auanl dsy earellel or-tiie Bl .
2 D saudl wis AR A4l Bud 6.

apany, (A seul:
(A) &5l | (B) &5 2
(C) A | 2 2 (D) 1 e 2 dl wike -l
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Read the passage carefully and answer the guestions given below:

First we must understand the business of narcotics using Michael Porter’s Five Forces. His framework
explains the drivers of a business enviornment by the five forces- These are: The power of the buyer and
the supplier, the intensity of rivalry amongst market players, the barriers of entry into the business, and
availability of substitutes for the product.

'Power of the buyer' refers to the ability of the buyer to aveid purchasing the product, Drugs, like heroin,
can be addictive with just a single dose. This is why drug smugglers give “free samples” to youth. Once
a victim is hooked, his mind stops every from of rational thinking other than the next doze.

Discussions on drugs should also be concerned with the vast majority of people who are not addicts,
Their homes and lives are insecure. The drug addict is almost never dangerous when he’s under influence
of drugs. What makes him dangerous is the desperate need for money to buy the next dose. Drugs are
available only in an illegal black market. The costs are exorbitant and this is what drives the addicts to

steal, rob and even kill.
(Rt 5531 sinzoyds aizl 24 O 2uden usilnn was 2k

SRl S WS se e dia- el il Gudlan s90A wins sl edaEn wdl Ade.
Aed 0T, eI cUrlaReL A S Wi Haol e WEABL gRLAHAA B, UL e Ules vl iyl
saetizell 9, oozt ol sflstdHl dlsil, ucuuHi R sad s e Bseyda-l

(Guestdl.

‘i sefl 9o’ 3 Mg WAl zioan w2 unesll Aol 3ad &, Gl Gl sail, ¥ Wi Bls il

At ofl wst egmetsins ol ok . 2iiell % ~tallell seudin dasdl Yl “Hed A3l 2l S, HAsar
ailat st vedl, A olien s-ua e Hle Aan-u S Bl S afiing a Peurud sasdle o,

“allell el sl 2ulsil el 4 dly dea R syl digl 8 ue [Freid sigdl AL, dui-ail
217t apee Ay B Al siuisll ol Aslldl saimiieal Heid 50 Sld AL d QIAMIL SUIRY WdHls
Al dldl. % dag A WeAz-s eld & A 9 % sl G wdllsar e Tauddl b w3nd. Aslldl
BBl Sod Azsutu S ol Gueot i, dnell Budl qell as gl o), 214 20 el A4, |z
el et S0 ARG B 6,

As per the passage, the smugglers give free samples of narcotic drugs to the vouth because
{A) There is intense rivalry amongst smugglers,

(B) They don't want other sellers to enter their business,

(C) They want to reduce the decision making power of the buyer.

{D) They want youth to engage in robbery and crime.

SHUML AL Yooy AR5 YAsir MBS gl HEd Al 20l & s3m %

(A) dslMl dle edlzs &

(B) il Sagscty tell 3 2av dapmsaloll du- 2igzmui udy 53

(C) =il Alesl ey daidl alba wzisa wisl &,

(D) il geurdl-l g2 2 o=l iilel s3a widt 6,
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13.  As per the passage, addicts take to criminal acts because .
{A) Law is powerless against them.
(B) They come under the influence of bad friends.
(C) They need large sums of money to buy drugs.
(D) Drugs make them lose self-control.

6521l apauat v, AallEl ARang sl piaidl S 8 s

(A) 5461 A1 decll A AR iy 9.

(B) Azl v dlgiedl Aot 2l el Sl 8.

(C) tallell eaumil vdleal Al il 2su] 2uasusdL S 9.
(D) sl 2z dam deil wleias apuell B3 65,

. Read the passage carefully and answer the questions given below:

Not all agricultural societies become civilizations, but no civilization can become a civilization without
passing through the stage of agriculture. This is because at some stage in the development of agriculture,
as productivity improves. Then a significant number of people could be freed up to pursue other activi-
ties such as building monuments, tools, and jewellery; organizing long-distance trade; coming up with
new inventions; keeping accounts; and perhaps constructing new public infrastructure such as irrigation
canals that further improve the productivity of agriculture. This helps more people to do new things.

. ot 559 soeonds atal @A D18 sudla sl g sl

opia, o gF-ee orrtlaglaL o Al wig 51 uaL weaingld 5w dsissiiall was L Rl reigld
opell 2isll -tofl, st % gF-Faeme s doish, G il wm . 4wl BUR4, 2l il »i
231 stelEan diol did- aud spliged; -l sileedlell san; [Sas Al 2 sE1EL (AL A8l
Sra el e et st ¥ % gl Gaussami 24 il 52 Adl 2 gl s2a W2 Al

-

sl diBR e 53 ased. i oy dlai el sl szadi Mee £1 9.
14, Which one of the following statements is true as per the passage?

(A) Not all civilizations have undergone the processes of agriculture.

(B) Agriculture can give birth to new civilizations.

(C) Communities need to abandon agricullure to become civilizations.

(D) Agriculture can't be practiced without irrigation canals.

s 520 30 Ao R T8l 54 ais (Aue) 0 &7

(Ay ol oretirg el 5B Bl RIR # -l

(B) 404 el peiiaglRilat st 2l LRI

(C) Rizg il st Ayerlt sR Ll w32 8.

(D) Baud i [ el 591 asiedl el
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According to the author, in a mature civilization a significant number of people are sent o carry out non-
agriculture work becanse

1) There are insufficient buyers for agricultural products.
2) There is sufficient agricultural production.
1) Soldiers are required to defend a civilization.

Answer Choices:

{A) Only 1 and 2
{B) Only 2
(C)Only 1 and 3

(D) All three statements
Gutsetl el s wEUsA oRiRg AL il s AR Bree-gfsed sran lsdasi A B s 3

1) 804 Geve-dl 2 21yl Al diu 8,

2) rul yad 50 Gowe &,
3) wetaizglad 2e0a s w2 ARsHl wge ui e,

araity [Hsedl:
(A) &5t | w2
(B) 3571 2

(C) &5t 1 21 3
(D) =6ty [Mae-l

below:

- Directions for Q. No. 16-19 : Observe the following table carefully and answer the questions given

AN 16-19 ¢ Dl 2t shesd sinzoyds wadla g3, 20 A audan wsilu gae sl

Year |Total vehicles | Twowheelers | Cars | Buses | Truck Other |Population (India)
{ Lakhs) {Lakh) (Lakh) |(Lakhs) |(Lakhs)| (Lakhs) {Millions)
adl | g awsdl ol Wsiawnt 412 el 25 | vuduwl | cuadadawd
(eum) (anm) () | (@) | (em) | (euw) mRur)
1961 6.65 (L88 3.1 057 1.68 0.42 43923
1971 18.65 5.76 682 .94 343 | Py} 548.15
1981 53.91 26.18 11.60 1.62 554 8.97 68332
1991 213.74 142,00 20 54 331 13.56 2533 84642
2001 549091 3IR5.56 70.58 634 29,48 57.95 1025.73
2011 1417 58 101865 191.23 | 1604 | 70.64 121.02 1210.19
Cruestions based on above dataset:
Gusd S0es nGd Yo
CSSC-GS-11-PKL-2020 - Al 12 [Contd.
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16

What was the approximate per capita ownership of two wheelers in India in the year 20117
(A) 0.84% (B) 0.084%

(C) 0.0084% (D) 0.068%

A 2011 4 elzaxl Bugl alsildl wiedls sl gl »uad dedl edfl?

(A) 0.84% (B) 0.084%
(C) 0.0084% (D) 0.068%
17.  The maximum decadal growth (in percentage %) in the population of India is registered in the period
(A) 1961 — 1971 (B) 1981 - 1991
(C) 1991 — 2001 (D) 2001 - 2011
C wmou ouRdel aadll ey saly qla (gl AL ) Aluda o,
(A) 1961 - 1971 (R) 1981 - 1991
{C) 1991 - 2001 (D) 2001 - 2011
18,  In which vear the decadal growth (%) in the number of cars surpassed that of the two wheelers?
(A) 1981 (B) 1991
(C) 2001 (D) 2011
s anfail sl e sudly gle (2ol AL Aay) Bl el sedl s edl?
(A} 1981 (B) 1991
(C)2001 (D) 2011
19,  The sum of buses and trucks, as a percentage of total vehicles was less than 7% in the following year(s)
1) 1981 2)1991 3)2001 4)2011
Answer Choices:
{A) only 1 and 3 (B) only 3 and 4
(C)only 1, 2 and 3 (D) only 4
oiall 24 28l maauell, set andldl sl s, aed(6l) i 77 s lesk el
1)1981 2)1991 3)2001  4)2011
arauon [Rseul:
(A) &5 1 24 3 (B) S5 3 i 4
(Cy &5 1, 2343 (D) B&cl 4
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20,

21,

22

Directions for ). No. 20-22 : Read the following information carefully and answer the questions
given below:

An international conference is attended by 65 people. They all speak at least one of English, French and
German languages. Suppose 15 speak English and French only, 13 speak English and German only, 12
speak French and German only. 5 speak all the three languages. A total of 30 people can speak German
and 30 can speak French.

gt e 20422 ;1A wula wiledl syl aiail 2 12 vuilan usil-u e 2l

idzandly Ada-il 65 Al GuBd 23 8. A otu vidlw, §2 vl ag{=t il 2l sl
S1s ounLeNA B, il dl 3 15 difl 95 2l wA Fuyold 8, 13 L5155 il Mo e sla B,
13 6Ll S5et T 319 et % 61A B 5 LS A ol A B, 54 30 L8l o el 564 30 &L5l -2
oilefl u% 9.

What is the number of people who can speak only English?

(A) 17 (B) 20

{C) 22 (D) data insufficient
Yol 6l 55 e % oilell ud &7

(&) 17 (B} 20

(C) 22 (1) bl syadl &
What is the number of people who know more than one language?

{A) 25 (B) 30

(C)40 (D) data insufficient
By s3ell Al oL et el Sl e beell &7

(A) 25 (B) 30

(C) 40 (D) el syl

The ratio of the number of people who can speak only German to the number of people who can speak
only french is

(A) 1:1 (B) 4:5
(C) 5:4 (D) data insufficient

Shal 610l vt & o 55 olet o oliell 213 69 2, el sl shan dlsiell wvan % g5d 3 w el 93 8 d-l
aslin 18

(A) 121 (B) 4:5

(C) 54 (D) "ol sryzdl e
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23,

24,

25

Directions for Q. No. 23-25 : Read the following information carefully and answer the questions
given below:

According to Mr. Sharma's will, half of his property goes to his wife and the rest is equally divided
between his two sons, Ravi and Raj. Some years later, Ravi dies and leaves half of his property to his
widow and rest o his brother Raj. Then Raj dies he leaves half of his property to his widow and remain-
ing to his mother, who is still alive. In the end, the mother owns ¥ 88,000 worth of the property.

YA Mo 23425 ¢ 1A 2ule wiledl simayds qiall wiq 8 2l wsir s wpd:

3l sl Al qoee duefl dulfed et ooy del uedl widl sau & s sl den 8 ysii 2@ wa
w4 Wi A aduy o, beeans 2l wedl, A Yoy WA B, v Wl duF-lL 208610 suen dledl
[t 2amt ol eua il U 2w =i oLl aan s, wsl, 1% Yy WH S A d il Ayl sua
o121 Yleltell [E4a 24 sl oot el Hie 22 oL s 6 % 9% ¢ yo wEd & Bicul, Qidowd
% 88,000 Al iyl sl 8.

According to Mr. Sharma's will, the total worth of his property was

(A) T 1,00,000 ¥ - (B) T 1,24,000
(C) T 1,28,000 (D) 1,32,000
ol ol Bl g, dull dufmdl e Bua . wdl
(A) T 1,00,000 (B)Z 1,24,000
(C) T 1,28,000 (D)% 1,32,000

The total amount of property owned by the widows of Ravi and Raj is

A ¥ 62000 {B) ¥ 61000
(C) T 48000 (D) T 40000
@ v woell Ruaicl R ddl duldl gz 8.
(A) T 68000 (B} T 64000
(C) T 48000 (D) T 40000

In five different markets, the price of one orange fruitis T 1, 7 1,50, ¥ 1.80, ¥ 2 and ¥ 2.25 respectively.
From each of these markets, a man purchases oranges worth T 36. In total he spends ¥ 180. What is the
average price of an orange?

(AY¥ 1.51 BT1.72
(€12 1.93 (D)% 1.58

iz S e sl v, 3s AD0AL SN 4 Y s T 1, T1.50, T1.80, T2 21 T2.25 8. vil ks
o]l 2ty ulid T 36 il Wt 8. sad T 180 WA 6. dl 31s AEsl-Al yiuw sua sedl 8?

{AYT 1.51 {By% 1.72
(€)% 1.93 (D)% 1.58
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26:

27

28,

29,

Cost of a packet of coffee powder and a litre of milk are T 20 and T 30, respectively. 10 cups of coftee 15
made with one packet of coffee powder and for each cup 200 mL of milk is used. If a cup of coffee is sold
at 25% profit, the selling price of each cup of coffee is Y

(AT 10 (B) T 12.50
(C)¥ 6.50 (D) ¥ 8.50

18 wiase 319 s R22 gt 9ts Wberdl e s, T 20 24 230 8. 8l 215 Wheniadl 10 54 S8l
s LA B 1L 15 542 200 BLdl, ghell Gudllatui . % 35 5181 s 25K SR AU B, dl
35 5181 su-dl dzue (Bua .

{A)YT 10 (B)T 12.50
(C)T 650 (D)% 8.50

A sum of T 11000 was taken as loan. If the rate of interest be 20% compounded annually, then the total
amourit to be repaid at the end of 2 years is

(A) T 15,840 (B) ¥ 16,640

(€)X 14,550 (D) % 14,840

% 11000 G4 i e, o 31 254 Gu auffs 207 usqlz cuy adid S dl A pbusid ga W
sl 34l

(A) T 15,840 (B) X 16,640

(C) T 14,550 (D) T 14,540

A can complete a work in 20 days and B in 30 days. A worked alone for 4 days and then 'B' completed the
remaining work along with C in 18 days. In how many days can C working alone complete the work?

(A) 72 (B) 68
(C) 12 (D) 90

s 500 ‘L 20 Baan v ‘ol 30 Bamsi uel 530 0% &, 5 91 4 Bau Sse st 4 i ugdl toll’ =t
ll? 2 el gl st 18 Beaal yel s, ' Ssdl v s dze Bzl yel 53 b &7

{A) 72 (B) 68
©12 (D) 90

Dinesh and Dhir start walking towards each other at 8:00 am at the speeds of 3 km/h and 4 km/h,
respectively, They were initially 17.5 km apart. At what time do they meet? i

{A) 11:00 am (B) 11:30 am
{C) 10:30 pm (D) 10:30 am

[ote 2450 R 2psit 3 03 301 e 1k 4 05 ol fseansedl el wad 8:00: seud A5 oflon{l s wasud 43
5389, Al w3l 17,5 Bl 53 edtl. dodl suu il Siseflons qodl?

(A) HaUE 11:00 4198 (B) el 11:30 a2
(C) A 10:30 =i (D) ™A1z 10:30 4
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30.  An elevator starts with 5 passengers and stops at 8 different floors of the house. Find out the probability

3.

32,

33

of all the 5 passengers alighting at different floors.
(A) 99/512 (B) 101/512
(C) 103/512 (D) 105/512

s 4323 [@s2 5 sl 13w B A 88 %L oe Ml 12k B, AL 5 Haulg -l -
MU Y2 GetRalf] dledia .

(A)99/512 (B) 101/512
(C) 103/512 (D) 105/512

The area of a circle is increased by 22 sq cm when its radius is increased by 1 ¢m. Find the original radius
of the circle.

(A)3 cm (B) 3.2 cm
(C) 6 cm (D) 7.5 cm

R 35 adaedl Brraumi 1 30, 2udl sl w08 4l A Basomt 22 D AL ad iy o,
adarll sy G sildl.

(A) 3 &4 (B)y3.2 8.4,
(C)6 4.4, (D) 7.5 % 4L

Two buses start from the opposite points of a main road, 150 km apart. The first bus runs for 25 km and
takes a right turn and then runs for 15 km. It then turns left and runs for another 25 km and takes the
direction back to reach the main road. In the meantime, due to the minor breakdown the other bus has run
only 35 km along the main road. What would be the distance between the two buses at this time?

(A) 90 km (B) 55 km
(C) 65 km (D) 75 km

6L ol 3y sz, 150 (Bl g3 -t vldeell 13 aia . werd ot 25 B 3L w2 €13 & 24 el
s A0 8 win usdl 15 ] w2 A3 & o wedl A ol ouzg a8 2 oflan 25 Bl el €0 B 249 ued)
g 13l g iesr weiaa wizdl Bat usd . v safas, 2 el wiell dli oo o e wiol wa
ist 35 (5.3l 218 &, wiL w6 sl 428l vidz dag) edl?

(A) 90 5.4 (B) 35 [3 M.
(C)65 2.l (D) 75 AL

Five girls are sitting in a row. Kalpita is to the left of Mridula. Megha is to the right of Arpana. Sangeeta
is in the middle of Megha and Kalpita, Who among the following is to the extreme right of the row?

{A) Arpana (B) Kalpita
{(C} Sangeeta (D) Mridula

Wiz sdlail 5wl A4l 8. sl ygardl sl s . e 2efoudl aell dzs &, aialld R s
sleuctiAl sasi 6, A2l sl diel ssen e Syl 87

(A) == (B) syl
(C) wolley (D) gl
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4.

35:

36.

37,

B is the husband of P, Q is the only grandson of E. E is the wife of D and mother-in-law of P. How is B
related to D?

(A) Son {B) Son-in-law

() Nephew {D) Grandson

w3 RS, ) S A s dla . R ol uell B it A Dy o, ol AL wd
5 woel 7 £

(A) el (B) %15

(C) el (D) At

In the following number series, one of the numbers does not fit mto the series. Find the wrong number.
| 788, R92, 444,220, 112, 52,24

(A) 52 (B) 220

(C)y 112 (D) 892

il sl s v A0l o el -l A vl v 2l

1788, 892, 444, 220, 112, 52, 24

(A) 52 (B) 220

(Cy 112 (D) 892

A number of friends decided to go on a picnic and planned to spend a total of ¥ 96 on icecreams. Four of
them however, did not turn up. As a result, the remaining ones had to contribute T 4 each extra. The
number of those who attended the picnic was

(A) 6 (B) 8
(C) 12 (D) 24

Yoy Bilsl Riskis w2 el 21 56 T 96 >ubailn un wil saaid 458l s dn-iiell AR, 96 593
syt -4l WEe, sidl Bioll 141 e3% T4 auii-n sinan gL, [skussl sust A-uisil=ll died
sl

(A) O (B) &

(C)12 (D) 24

How many times in a day do the hour and minute hands of a clock overlap each other?
(A) 12 (B) 20

(CY 22 (D) 26

sis Banui alime sizn deell aud sisofllon-l Guz siReun 4 ay &7
(A) 12 (B) 20
(C) 22 (D) 26
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38.

39.

41,

Today is Thursday. The day after 59 days will be

(A) Monday (B) Thursday
(C) Friday (D) Sunday
WU Ypdln B, 59 Ban udlell Ban  edl

(A) e (B) Azaiz
(C) ysa1z (D) 2faaz

Ais the brother of B, B is the brother of C, C is the husband of D and E is the father of A, then D is related
toE as

(A) Daughter {B) Sister in Law
(C) Daughter in law : (D) Sister

e ol Al oS 8, ‘ol o A AL euS B, Al B AR D v S A B L B B, ol wedl A
‘6 Al wd el Hoilfc /5,

(A) elsdl (B) susflzull
(C) 4y (D) tigket

Five years back, the ratio of ages of Aand B was 4:5. If the present age of A is 29 years, then the present
age of B is ]

(A) 31 years (B) 35 years
(L) 33 years (D) 34 vears

Wiz A wdal, ‘o’ sin ol L quedl apeiiag 4:5 wdl. %9 <l wiadll 642 29 9 B, di ‘el Al el
G 8.

(A)31 ad (B) 35 ad
(C)33ad (D) 34 2
Two trains were running in the same direction at the speed of 90 km per hour and 70 km per hour

respectively. The faster train passed a man standing in the slower train in 18 seconds. The length of the
faster train is

(A) 100 meters (B) 80 meters

{C) 120 meters (D) 150 meters

o) 2t wls o [Bawsl wirgsi, 90 BBl slA seus w44 70 (5.1 ui seis-ll sansdl el siadl edl. aadl 24
Ml 2rini Golell vis @ualiaq 18 A5l vz s, madl 2l dewsS 8,

(A) 100 Hlaz (B) 80 3{l2x

(Cy 120 #lez (D) 150 4122
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42,

43.

45,

Find the missing term in the given series: BXM, EUP, HRS,
(A) XZY (B) RPN
(CYVTU (D) KOV

aife Ssllul vad ue ikl BXM, EUP, HRS,

(A) XZY (B) RPN
(C) VTU ' (D) KOV
Find the missing term in the given series: 13, 21, 48, 112,
(A) 255 (B) 280
(C) 237 (D) 290
willel Seld wad ue i 13, 21,48, 112, .

(A) 255 (B) 280
(C)237 (D) 290

By selling an article at 3/4 of selling price, a trader incurred a loss of 10%, When this product is sold at
its original selling price, the profit or loss percentage will be

(A) 20% loss (B) 120% profit

(C) 32.5% loss (D) 20% profit

a5 ciag) A+l A2 [ s2dl 34 oud dzcudl, 3is Al 1074 45t ] s, 1% ol e YO AL
o A B, Al Al st sl esadl - a4l

(A) 20% vile (B) 120 451

(C) 32.5% vil2 (D) 20% =8l

Find the pair that shows the same relationship as ‘Capricious : Reliability™:
(A) Extemporaneous : Predictable

(B) Unreliable : Inhuman

(C) Tenacious ! Practicality

(D) Arbitrary : Whimsical

f3all : Fraslladr 3L usie) aisiy siguadl #10 sk

(A) ydaud] [ skg - wiguera

(B) Eau-ly ¢ sl

(C) Badt @ edailRsdl

(D) Mzl : ast
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46, The population of a city was 20,000 in the year 1997. It increased at the rate of 5% p.a. Find the total

47.

population at the end of the year 2000.

(A) 63000 (B) 23153

(C) 29260 (D) 31715

¥ 1997 4i udal azdl 20,000 adl. dni 53w @ -0 ed amdl 22l @ 2000 L »id sa a3l s
(A) 63000 ' (B) 23153

(C) 29260 (D) 31715

A ladder 5 m long is placed in a room so as to reach a point 4.8 m high on a wall and on turning the ladder
over to the opposite side of the wall without moving the base, it reaches a point 1.4 m high. The breadth
oftheroomis ~  metres,

(A) 6.8 (B) 6.4

(€)6.2 (D) 7.5

5 M2z aioll s AL A Fuui ysaumi 208 6 el Zleud v 4.8 Hl2aAl Guudl wdiall sy, i »0y
ALt it v B sl Banadl siyg des Sraand suadi, d 1.4 Hl22 Gud=l wdldl 6. 2u3ndl
yelond 2z 8.

(A) b8 (B) 6.4
(C) 6.2 (M7.5

A pie chart depicts the classification of total funds of an organization according to different sources of
income. A particular sector of pie chart for rental income has 108 degree angle at the centre, The percentage

of income from rental income to that of non-rental incomes is approximate o
(A) 30% (B) 43%
(C) 45% (D) 35%

Sie uus s Bis A [AREY spasi-a didl st A sa o aalsed euld 6. eusdl 2uas
WLl 2En T el 1087 viell s-ud B, sl 2ias A ews-Fall suas-l esiadl 30 sielfd
%8,

() 20% (B) 43%

(C)45% (D} 35%
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49. A king ordered to make a crown from 8 ki of gold and 2 kg of silver. The goldsmith took away some
amount of gold and replaced it by an equal amount of silver and the crown when made, weighed 10 kg
The king knows that under water gold loses 1/20th of its weight, while silver loses 1/10th. When the
crown was weighed under water, it was 9.25 kg. How much gold was stolen by the goldsmith?

(A) 1 kg
(B) 2 kg
(C)3 kg
(D)4 kg

iy 2L 8 Bt 241 i 2 Bau At g2 stettanisd ke sl 2aslsi alleAedl el ool 2l
el 1L Al oot aatiet asgetefl 2L G oy ot 2 A Ao 10 B ed. A ol 5 % wellal
Al i 1/20 SU5L A%t A 8, R Alel 110 S 4 s B, ald Hged vt welil s2am
s, dl A 9.25 B eg. 2aslsd bag dld 0] ed?

(A1 B

(B) 2 (53

()3 G

(D) 4 [Ban

50. The highest four-digit number which is divisible by each of the numbers 7, 9,16,18 is

{A) 8063

(B) 9349

(C)9072

(D) 9877

ap-sisell el 308 stk % 7, 9,16,18 U4l 635 vis wil Rouwa s asm, 4 8.
(A) BOG3

(B) 9349

(C) 9072

(D) 9877
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